
Математик
а

Приглашаем на урок.



У нас всё получится!



(16 ● 6 + 4) : 25 ● 18 =

(480 – 15 ● 2) : 15 ● 90 =

(300 + 150) ● 4 =

1 2 3 4
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300 ● 4 + 150 ● 4 = 1800



25 м 15 м 10 м

15 м

Дачный участок

S = ?S = 750 м2



(a + b + c) ● d =  

= a ● d + b ● d + c ● d



156 ● 324

156 ● (300 + 20 + 4)

156● 30 + 156 ● 20

156 ● 300 + 156 ● 20 + 156 ● 4



Физминутка
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с. 38 №4 (верхняя строка) 



Самостоятельная работа

963 ● 286

1046 ● 754



Проверь себя:
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с. 38 №6 (а) 

?

s v t
560 км 70 км/ч

240 км 60 км/ч
?
?



Домашнее задание.

С. 38 №4 (нижняя строка); с. 38 №6 (б)



Спасибо за урок!


